C11-5.0 - Square/Cube Radicals Equations HW

Solve for x,

x2=4 x2=9 x2 = —1
x% =25 x2=0 x2 =_9
x3 =27 x*=8 x3 = 64
x3=-8 x==p7 x3 = —64
x*=16 x> =243 x7 =128
x*=-16 x5 = —243 x7 =—128
x?2=3 3

x> =7 x*=-5
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C11-5.0 - Simplify Radicals Variables HW

Simplify.Variables can be either positive or negative.

L V22 V% JT6xz

Simplify.Variables are positive

24,3
x2y? Vi Vx5 oy
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C11-5.0 - Simplify Radicals Factoring Notes

Simplify.Variables are positive. Possibly Factor.

(x —2)?

Y(x—3)3

JEx+3)(x+3)

VMxt+2x2+1

v (x + 5)2

V& =3)

VxZ+6x+9

Jax-DE2-1)
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V(x —.01)2

VxZ+2x+1

\/ (Only This!)?



C11 - 5.0 - Mixed Radicals HW

Write as Mixed Radicals

Y12 = 2318 = 33/45 =
23/50 = 2 3/20x% = e
3
3 3/24x5 = 23/5% = “¥a0 =
4 xo= 5 - 5
3324 = 13023 = 23135 =
9
3 2 13 _
2310 = 2318927 = > V56 =
13
2/33/48 = 23162 = 2 V80=
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C11 - 5.0 - Entire Radicals HW

Write as Entire Radicals

233 = 332 = 5x32 =
4V5 = 2x23/7 = 73/2x
4x3/7x = 73/6 = 13x23/3x =
2399 = 5V1000 = 737 =
28 = 736 = 4xy’/5xy =
2V48 = 3312 = 88 =
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C11 - 5.0 - Simplifying Radicals Decimals/Fractions HW

Simplify
—V16 —V9 1 1
16 9
J=9 —=9 V.01 V.0625
_W 3 —27 5 _32 3\/ _0.125
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C11-5.1 - Adding/Subtracting Radicals HW

Add or subtract the following radicals

233 +133 = V5 +36 = 233+333 =
2 25
2 2 _ 2 2 _ _7\/7_2\/5_
532 -232 = 6x3/3 —8x3/3 =
3 3 _
V7 + 37 = 537 +V7 = 4V5x =9 V5x =

Simplify and Add or subtract the following radicals

Y12 + 233 = 2812 + 1375 = 2318 —4 + 53/50 =
—73/20 —53/45 = 8344 +3+63/99 -1 = 7%/28 +3%3/63 — 2 =
5+ 4320 +1 - 53125+ 6 = 212 +1320+1 = 2328 +13V20+2 =
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C11-5.2 - Multiplying Radicals HW

Multiply the following radicals

7V3 x 245 =

7xV3 X 2xV/5 =

3x+5=

(V5)" =

(=1) =

73/3 x 235 =

(2¥x=1)’ =

27 x 3V6 =

10V5x X 3vV7 =

V5x3=

(-+2) =

(Vx—1)" =

7x33 x 2x3/5 =

73 x 23/5 =
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10V5x X 3V7 =

x3v/3x X x4/5x5 =

V3 x+/5 =

2

(- -

(-3vx+2) =

V7 x2=

(332)" =



C11-5.2 - Multiplying Simplifying Radicals HW

Multiply the following radicals

7V3 x 246 = 2V8 x 3V6 = 10V5x x 3v7x =
7xV3 x 2x\/9 = 2 J12%2 % 3vEx = 10vV14x x 3V7 =
2 I 2 2
(V5x) = (3xvV2x)" = (—4/22%) =
733 x 2327 = 7xV15 x 2xV5 = Y8 x2=
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C11-5.2 - Distribute/FOIL Radicals HW

Add or subtract the following radicals

V2(v/5++3) =

V72 ++/3x) =

(V2 +V5) (V2 —5)

(V7 +5x)°

Wx+24+D)Wx+2-1)

27(3V6 +2) = 52V7 +4) =
V7(2x? +33) = V5(6 + V5x) =
W7+ V5T =V5) (V2% +VB)(VZX +5)
(V2 +V7)(V3 ++/5) (V2 +3)(V6 +2)
Wx=34+1D(x—-3+4)
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C11-5.2 - Dividing Radicals HW

Simplify or Divide the following radicals

10 Viz Vi
V5 Vi V4
4+/6x2 8v10
= 8v6x ikl P
3x24/5
2V3x = 6xV2 _ 7xV6 B
4V6 12x2/6
w2 6v5
T2 _
T _ o7 _ o5t
3V3 V63
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C11 - 5.3 - Rationalize the denominator HW

Rationalize the Denominator by multiplying the top and the bottom by the rool on the bottom

S B 1

Ve 2 E

2 2

V2 6 =

NG V5

1 2 12

3 7 25
V3+1 Ve +1 V6 +1

’ 2+4/3 L

V6 +3 T

e V6 +1 V2+1
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C11-5.4 - Prep Radical Equations HW

Square the following

Vx VTX x+2
Vx V2x
7 = =1
VX +2 2Vx +2 —2Vx+2
Jx+5 V2x +7 Vx =2
3Vx — 4 2+vx -2 8+Vx—7
Vx+24++Vx -1 Vx—1++vVx -1
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C11-5.4 - Radical Equations HW

Solve the following equations by squaring both sides, possibly do algebra first.

Vx+8=6 Vx=—4 Vx+2=5
x—1=-5 Vit3-2=5
Vx—8=-6 VZx+3=5 Vx-S =4
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C11-5.4 - Radical Equations HW

Solve the following equations by squaring both sides, possibly do algebra first.

V2x =\x + 4 Vi =V6—x 2V2x =\2x + 3
V2x —5=+vx—1 Vx+5=V2x+4 Vax —6=2x+4
2Vx+4=4 3Wrt2—3 =9 —5Vx—1=10
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C11-5.4 - Radical Equations HW

Solve the following equations by squaring both sides, possibly do algebra first.

2Vx —2=+vx+1 2Vx —5=Vx+7 2V7x —6 =3V2x—8
x=vVx+2 x=+2x+3 x=vV4x -5
2w = \Tx =3 2x =vV—-2x+1
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C11-5.4 - Radical Equations HW

Solve the following equations by squaring both sides, possibly do algebra first.

Vx+3=x+1 V2x+1=7—x
Vx+3—-1=x
Vx+4+2=x
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C11-5.4 - Radical Equations HW

Solve the following equations by squaring both sides, possibly twice. Isolate a root 1st.

Vx—3=vx+2-1 Vx+1l-Vx—4=3

Vx+35=vVx+15+Vx +3

6=4+2
X =
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Cl1l1-5.4 - Restrictions HW

Find the Restriction, by setting underneath the root = 0 and solve

x—1 Vx + 2 V2x =3 Vax +1
V=x—1 3-x V2% =3 Nig=rr
21 V=2 Nt N
JE+Dx—-1) Ve +2)(x—3) [%2 + 5x — 6 2 _2x_3
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